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Short answer questions (1-6)

. Birds living on oceanic islands tend to have a smaller clutch size than the same species breeding

. Many birds form groups in which only one female breeds and other birds act as helpers at the
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Please define and explain the following terms (16%)
(1) K-selection:
(2) phenotype:
(3) effective population size:
(4) niche:

on the mainland. Explain this on the basis of Lack’s hypothesis. (4%)

nest. Why might an individual choose to stay as a helper in a group rather than move away and
breed elsewhere? (4%)

‘What are generalist and specialist species? (6%)
The birds, lizards, and mammals of Guam in the western Pacific Ocean have been driven to
extinction or to low numbers by the introduced brown tree snake (Boiga irregularis). How could

this happen? Is it adaptive for a predator to drive its prey to extinction? (5%)

Can a population persist without regulation? How could you determine if a population was
persisting without regulation? (5%)
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8-1 LA 4 N e 5B B R RN THIL K ? (5%)

8-2 HEARATI I Y 4R AE W thHE T o AT H A SR A 7 (5%)

8-3 M A M A (R4h48) & top-down or bottom-up 4% #(control) + &-354+4 ? A8 A2 M
HATBE? (5%)
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10-1 Landscape processes
102 Ecological footprint
10-3  Stability of an ecosystem
10-4 Habitat islands

L SRAE AT IR G A R 134 2000 46 88 7K % 9 by & 7 TR M0 2 16 Ak 09 T HE R HE - (10%)




